A Roll No.

No. of Questions — 23 SS—06— 1—Pub . Adm. I

No. of Printed Pages — 7

3= | Uek Odter, 2011
SENIOR SECONDARY EXAMINATION, 2011
Aefeas @t I — %em (OPTIONAL GROUP I — Arts)
Tk W9 — WIH U
( EE TIIEA % WFIE AR )

PUBLIC ADMINISTRATION — First Paper
( Basic Principles of Public Administration )

a3l e
4
qUTi® : 60
Tianfeat % AU Qe A6
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. OreqTel WEved 3T U9 UF W A 3 JaEd: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. WA UAE TR F ST TURR H FHH THR Hl T / IR / SREH
B W ERI WIS % WY Rl WEl 6 |

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

3. | TR HH T € | YT HHE 22 U 23 H Tk T & |

All the questions are compulsory. Question Nos. 22 and 23 have
internal choices.

4. T T T IW A T ITR-YRAAH | & Ad |

Write the answer to each question in the given answer-book only.
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5. 9 U 6 UH 9§ U GHM 3 Al A6 €, 3T @A GW H A Th
e | o |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in
continuity.

FHA (A, F, W TG T ) &1 Tl Thod H IER SR |

AHTTER T efehl STehY o9 :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 HHIH T I HT HHER

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. (@) CESSEA SRR T IS gavdy w9 9 H Ugh HAT o1 ?
(31) 1810 (&) 1890
(@ 1910 () 1790.

In which year did Louis Brandeis first of all use the term

'Scientific Management' ?
(A) 1810 (B) 1890
(€) 1910 (D) 1790.

N | =
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(i) ‘HTSA % WS TR H HG AH G | ST A E 2
(37) HTRAE T () ST Ggr
(®) 979 I FE (%) FATH FqEA |

'Classical theory of organisation' is also known as

(A) Behavioural theory (B) Informal theory

(C) Human Relations theory (D) Mechanical theory. %
(i) TN USY HFTESA T | T PeT ?

(3) T 2. T (@) Tets

(® TR (x) w2 |

"Communication is the heart of management." Who said ?

(A) L.D. White (B) Gladden

(C)  Pfiffner (D)  Millet. %
(iv) 3T OROM 1 WET-UR e TAdSd AT ?

(37) UeRHA HA (M) T FFR

(@) w9 I (®) T 9 HE TR |

Who propounded the 'Theory — X' of motivation ?

(A) Elton Mayo (B) Douglas McGregor

(C) Chris Argyris (D) None of them. %
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I : U G 2 9 5 Ak TAF U T I 3 Ghaq U oG ° a1 5 |

Directions : Answer Question Nos. 2 to 5 in a maximum of one

sentence each.
2. ‘9dl IsE I UIATTS B |
Define the term 'recruitment'. 1
3. ‘VAU-gd WA § 3T HT THEd € 2
What do you mean by 'Pre-entry Training' ? 1

4.  SHEEE % FEl QN AT N Seord S |

Mention any two means of public relations. 1
5. ‘HOAUET IR @AY e 3R FHE TG HAT T4 2

When and where was the term 'Propaganda’ used first ? 1

HIYT : U9 G 6 T 11 T T U9 hl ST 31 YhcH 40 V5 H ar s |

Directions : Answer Question Nos. 6 to 11 in a maximum of 40 words each.

6. ‘7T ok Y STEYROT T THIAE |

Explain the concept of 'New Public Management'. 2

7. i YN o 3TATA % dh & W Hiel hl GgIl ol WG el Sl &
AR FT ?

Which period of development of the study of Public Administration is
called the golden age of principles & why ? 2
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10.

11.

12.

13.

14.

15.

S
TN T & JF TS AR e |

Give two major findings of Hawthorne Experiments.

%o §RT 9 T S Yo o5 dcall ol Sooid shi 5 |

Mention the elements of management as propounded by Fayol. 2
" FETA-aTE T JF SR AAAE Sargd |
Give two basic assumptions of 'Theory - Y'. 2

TGS aUTe W ST T AW & 2

What do you mean by Appropriation Bill ? 2

TR : UYT GRT 12 ¥ 21 Th TAS U9 HT IR 3T Ihad T U8 H 151 |

Directions : Answer Question Nos. 12 to 21 in a maximum of one

page each.
WMk TR aNT o gh H g god % AEH F Sooid il 51 |

Point out the contribution of Woodrow Wilson in the development of

Public Administration as a discipline. 3
I & AIUERT FFT & NN F SooiE 1 |

Mention the demerits of trait theory of leadership. 3

TEN0T Y AT Ul ST dcal T goie &l 5 |

Discuss the communication process and its elements. 3

ST TR i TS TR T S |

Explain the major features of Development Administration. 3
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16.

17.

18.

19.

20.

21.

22.

6

YOI Teh kT 41 Evdh € 7 GHETEd |

Why is Administrative Development needed ? Explain.

qETICHeR iish TR i T T Sl T IS |

Explain the nature of Comparative Public Administration. 3
W F AR TN F T AT W |

Explain the salient features of an ideal method of recruitment. 3
T TTEIOT S TS W UF € A o0 Ay |

Write a short note on the problems of training. 3

G 3 IR0 o dY 3R TR HI S |

Clarify the difference between public relations and advertisement. 3

WHR o TGS a1 § GUR &q Gerd <153 |

Give suggestions to bring reforms in Public Relation system of the

Government. 3

I ¢ YT ST 22 Ud 23 & YIH YT BT I 3 ghad IR IR H 5|

Directions : Answer Question Nos. 22 & 23 in a maximum of four

pages each.

AT T TERYRT Sl 3T T & HROT 1 Tgd &RT S5 |
37eraT

IRTH T SO FM AT 2 THH UG FUIIST % ANEE hl FerE
HIS |
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Give a detail account of the reasons behind the evolution of the

Human Relations Approach. 6
OR

What was the Scientific Management Movement ? Discuss the

contributions of some of its pioneers. 6

23. TSI THIOT Sl W SHAT h ITAYOT hi 51T |

SR

RA o AIAF TS FETer@l Tee i o HH & av HI S |

Analyse the procedure of budget formulation. 6
OR

Describe the role of the Comptroller and Auditor General of India
(C and AG). 6
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